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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

MODULE-I
(Economic Principles)

(Marks: 50)
1. Answer any four questions: 1x4=4
@I BIETS &ess Ted mis ¢

a)  Relationship between which two parameters

is described in the Law of Demand?

vifev e @ a9l ofssieia e iF
o7 A TR ?

b)  What is marginal revenue?

oifss @l (aem) <2

[Turn Over]

c) Draw an Average Revenue Curve under a
perfectly competitive market.
@35 7z efsrifonee e T @Refe
(I TR T |

d)  Which of the factors of production earns a
profit?
TAMCTR (I GAMING [P STere] B0 2

e) Give an example of such an income is not
included in the National Income.
ORI SEOE 2] G5 IFT> SN Sizdel
s |

f)  Which form of market exhibits price
discrimination?
(I EFICEA A IS Fo@Fe (T 7)) (4l
R ?

2.  Answer any six questions: 2x6=12

@@ 2—qB A0 Tad 7S ¢

a)

b)

c)

45(C)NS

Define monopoly.
GFHAN FIFAE FE 7S |
Define rent.

Ielq Herl 18 |

Define deficit financing.

qofe YR AR 7S |



d) Define price elasticity of demand.
bifgwis wRere Efegswsela viel we |

e) State the law of variable proportion.
ARG Srpoliced R a6l |

f)  State the quantity theory of money.
B offasie we qdfa 541

g) Define consumption function.
(Ol AR A8 WG |

h) Define Fixed Cost.
23 @ kel nie |

3. Answer any four questions: 6x4=24

@~ DA AR T wie ¢

a)

b)

45(C)NS

Discuss briefly about various sources of

government revenue.
T @CFT @7 o1 T Ft F2

Define price discrimination. When it is
possible?

IS FOIFACI @ w6 | F4 @b zewt eI
With help of a suitable diagram of isocost
line and some isoquants explain how a
producer reaches his production equilibrium.
FRFH AGIRAW ([ 8 SRR (@ N
e PO GFe SRIE TR SIS ST
A
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d) Define Tax. How taxes are classified? Give
an example of an indirect tax and a direct
tax.

T ke w6 | [Felca Seaw el w23
GHCTF TN IR AOTF P ThlgFel WG |

e) Define cross price elasticity of demand and
income elasticity of demand.
sifgwa siaifss win Bfozioe gk siftne
R RfegivmerR e 7l |

f)  Discuss the Ricardian Theory of Rent.
[ERERI TSRS IS

4.  Answer any one question: 10x1=10

@~ @I el Ted 7l

a) Define perfect competition. How does a
perfectly competitive firm attain its
equilibrium in the short run?
sefist eferiforel el wis | f[Fea «b sjfie
SRS 2P FHFICE ST Sere] 2

b) Define inflation. How inflation can be
checked?

Turifen wke wis | e Jurdifes afew
A AR ?
45(C)NS [4]



MODULE-II

(Business Environment &
Indian Economic Problems)

(Marks: 50)

5.  Answer any four questions: 1x4=4

@~ DA AR T wie ¢

a)

b)

45(C)NS

Write full form of WTO.
WTO @71 7o 14 |
Write full form of BIFR.
BIFR &7 sl @14
Write full form of IMF.
IMF @51 o= @12l |

What is the position of India in the world in

terms of population?

PR K1 ffiSice erRres s @R ?

What percentage of people of India lives

below the poverty line?

CIRSIRT Fo * 0 N wifiw A [
Y

Which private sector employs highest number

of people in India?

[5] [Turn Over]

FIAEI F(L 2

6. Answer any six of the following: 2x6=12

@@ 2—qB A0 Tad 7S ¢

a)

b)

g)

h)

45(C)NS

Define ‘disguised unemployment’.
‘o (FFIRT AT AR Tl |
Define ‘green revolution’.
e RAEE A e |

What is ‘consumption credit’?
‘I qe fme

Give two examples of MNCs.
MNCs-93 4G Cwizgel 7l |
Define ‘mixed economy’

Tl weeifer’ sicesl wie |

Define ‘globalisation’.
TR TR 7S |

Define ‘poverty line’.

MY AR IR 7 |

Define ‘operation barga’.

A A6l e



7. Answer any four questions: 6x4=24

@~ DA AR T wie ¢

a)

b)

d)

45(C)NS

Write briefly the benefits of green revolution.
e [REEE CoiifReialer Aewel @74 |

Write a short note on importance of public

sector in India.

oS FABE CFEd SF0ed Tod G Tifend
B @1

Write major causes of unemployment in

India.

OIS @0 A4 Il @Y |

What are the basic features of a developing

economy?
G ST SelfeR o1 @B & e

What is the role of foreign direct investment

in Indian industrialization?

533

What are the major barriers to free trade?

T e e el e
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8.  Answer any one questions: 10x1=10

@@ @B AT Ted WS ¢

a)

b)

45(C)NS

Analyze the factors responsible for low

productivity of Indian agriculture.

ISR R T TesArerlereld Sl R

4|

Define ‘poverty’ and discuss its extent in
India. Analyze the measures taken in order to

eradicate poverty from India.

T W@ me @R SFce O [ o
F9| OIS (A niwe! u7 99 &= [ [ <3
@€ ZR(Z?




